Precalculus Name LSB Lu’k\m
9.1-9.3 Conics Review

Use the information provided to write the standard form equation of each parabola.
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5) Find the vertex, foci, and directrix of —8(x + 2) &= (y + 3) Then sketcha graph.
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Identify the vertices and foci of each. Then sketch the graph. o
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Use the information provided to write the standard form equation of each ellipse.
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Use the information provided to write the standard form equation of each hyperbola.
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Without putting them into Standard Form, classify each of the following equations as a
parabola, circle, ellipse, or hyperbola. Explain why.
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Answer the following application questions.

20) The revenue R in dollars generated by the sale of x units of a patio furniture set is given by
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(x - 106)2 =— g(R - 14045). Approximate the number of sales that will maximize the revenue.
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21) A satellite dish is in the shape of of a parabolic surface. The satellite dish has a diameter of 12
feet and a depth of 2 feet. How far from the base of the dish should the receiver be placed?

((03 ﬁth 3 =&
(kT bt P &
* :\l/'z"’* x>= Hoy P=4.6 1,5 feet ]
\ i [ |45 4ok

22) The light bulb in a flashlight is at the focus of its parabolic reflector, 1.5 centimeters from the
vertex of the reflector. Assuming the reflector is pointed towards the rlght write an equation of a

cross section of the flashlight's reflector with its focus on the positive x axis and its vertex at the
orlgm
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